
��� ����������	
����
�	�
������	�������������	����	�	�	���	�	�	�
�����	����	�	��	 $%! ��

���
�������
�����	���
����
������
��������
���
�
�����
��


���	��	���-���

����������#
�&�����

�����	
������
�'
�
����'�����
��


�
�����
������.����������*
�������


E	$��������7�������
��� ��

�?�55<>�5��K�����(
�������()��1��6��

��

���%�
���$

��	�$���$7�

��,�����L�������	
������
�0��C��������(����


)��
���

�
�����
������*
��������������

����

(���*��G�8���
�=;��K��
��
����5

�� 5!<"����(����
�)��
�����()��1�����

��
�&
�
%�
�$���<���$7�

��������

!�����
� 
������ ����� �	� 	�
���� 
������� 
�
���
� ���
�
�
� �	� �������
� ����
� ��
���� �� 
�����
�������������������
����������������
�������	���������
������������
���������������������

����� �	� ���� ���
��� ���� �
� 	������ ������� ���� ��������� �	� ���� ����
��6���� �

������� ��

	��#����������
��������������

������������!��
����"����
���
�����������
�����
��������
�����������������������	��������
�����	���������
�������������
���������
�����������
��
��������!�����������

��	�����������������
���
������������
���

��	�����������������
����
���������������
���
�����
������	��������	�������	����������
������1�����
�������������
��

��
����	��������
�����������������	�����������
�����

������������
���������
������������
����� �������������!�������
�� ���������
� ������������	� ���� 
����
� ��
���� ������
� ������

�������
�������������
������
�����

������������
���������������������!�������
�����


�
�������.�����
����

�����"�����
���	�������
���
����������	��������
������������!��
��
�
�
��������
�������������
��	��
�����
���
�������
�����������	
����������
����������
���������	����
9��
�
���
��	������������9����������
	������������������

��	���������������
����������������	�����������
��������
�������������������
�����������	������������

��������	�����
����������������
�����	�������

��������
�	�

� �����
��
���
���		��
�! ��	���	�
��������
��������
����
0

��
�
��	�����
�	����

0
���

����	�
�	����
�
�

������
�����
� ����������	��
�����������	
�����
� �������
��	���������
 �����	��
������	
������
	 ����
! ��������
� ����	���	����
��������

 �����
����
���

� �������
����
���

��! ��	���	�
� ����
� �����������
� ��"���
��������
������
; ��	���
��
���
������
���� ��������	
������	����

��

� !�"#��!

β �
��	�	�
��
�����������
��
��	����
∆'

���
����	�
����
��
�����	

ε ������
�������	
∀ ������
µ ��	����
���������

ρ ��	����

�$#!���%&!

* ����
����
$
 �	�����

��"���
	 �����	�
	�� ��
����
��� ������	��
� �����

��
	����
���

'	
 �������
 ����	�
 ����
 ��
 �����	
 �������
��������
�����
��!�
���
��
�������
�����
�����
��
 �����:��
 ��
 ���
 ���������	��
��������
 �-D> $
%���
����
��	�����
��
�������
������
�����
��������
�����
����
���
����	���
�	
�
��������
��������
�	�
���
������	���
��
�����
�	����
���
�	
�	
�	�������
����	������
 ��	!$
C�
 ���
 �����
���
������
�������
���������
 �
 �������
 �������
 �������	�
 ���
��������	��
 ��
 ����
 �������
 ������$
%����
 ��
 �
��������	
�	
���
����
���	����
����	�
���
������	�
����
 ��!�	� 
 �	�
 ���������	�
 ����
 �����	� 
����������
�������
���
����
���	����
����
������	
���
�	�
�����
��
�������
���	����
���
��������	�
�	�������
 ����	�
 ������	�
 ��
�����
 ��������	�
�	�������
 ����	�
 ���������	�$
 '�
 ��
 �������
 ��



�������������	
����
�	�
������	�������������	����	�	�	���	�	�	�
�����	����	�	��	 $%! ��

�������������� �����'���������������	
�����(�����)�	!�����

�������	�
���
��
��
���:�
���
�������
��
�������
�	����
 ���
 �	��
 ��
 �������
 �������
 ��
 ���
 ����
�����	��
���
���
���������
��
��������	�
�	�
�����	�
�	����
�@�����
�	�
(�G�	�
/006 $

&���	�
 ���
 ������	�
 �������
 �	
 ���
�"�����	��
�����
������
���
��"���
�����
�����	��
�
������

����
���������
�	�
�����������
�����������	�
���
��
���
��	����
�	������	
���	���	�	
����
������
���
���
�����
����	�
;°D
�E�	
�	�
��	������
/0=1 $
%���
 ���	���	�	
�����������
 �������
 ���
 �������
�
���	��
������	
���
�
���	��
����
��
���
����
�	�
���
 ������	��	��$
%����
 ���
 �����
�	�
 ���
������
��������
��
���
���
�����
����	�
���
����
���
��	����	�
��
���
����
�	�
�����������
������
�����	
���
��"���
�����	$
%��
��	���������	
��
 �����
 ������
����	��
�	
���
�	�����
�	�
���	����
��	�����	�
��	�������$

&��
��
���
�����
�������	��
��
���
����	������
��������
 �	
 �������
 �	����
 �������
 ����������	��
�������
���!�
����
����
	������
��	������	
�������
�	
�		����
��������$
%��
��������	��
�	������
��
����	�
����
�������
�	����
�������
�	���
�E#%7. 
����
���	
���
���!
��
��	�
���!�
�E�	��
/0=59
.���	��
��
��$�
/0069
���!��
��
��$�
/00< $
#�������
����
���
���!�
����
��	�������
 ���
 ���	���	�
 ������$
.�����
�	�
(����
�/00< 
�	����������
���
�����
���	��
�������
�	����
�
����	������
�����
�����
����
�	�
(���	
�/000 
�����	���
�
	����������
������	���
�����
�������	�
���
�������
������	�����������	�
����������
����
���
��!�	��
 �	����
�	
 ���
 �������
 ��	!$
.�����
��
 ��$
�244/ 
 �����	���
 �
 	��������
 �����
 ��
 	������
��	������	
�	
��������
�		����
�������
��	������	�
���
��	����
 �	������	
���	���	�	$
#�������
 ����
���
	��
��	�����
�	�
���
��������	$
%��
�����
���
��������
��
E#%7.
���	�
�������
�����
��
���������
������$
'�
���
�	����������
���
�	����	��
��
���
�������������
������
�	
���
����
���	����
�����
���	
���
�����������
����
��
���
�		��
����
��
���
������
��
���	���$
%��
�������
����
�����	��
���
���
��	�����	�
��
������	�
������
 �����	� 
 �	�
���������	�
 ������
 �����	� $
'�����
�	�
��
N����
 �244/ 
�����	���
�
����������
�����
��
-D>
�������������	
����	�
����	���
���
����
��	!
����������	�$

%����
 ���
 �������
���!�
 ����
 ��	�����
 ���
��	����
�	������	
���	���	�
��
�������	�
�����������
����
 ��
 �����	�����
 ��������
 �'	���
 �	�
)�!����
/0=;9
%�	�
 �	�
�������
 /00; �
 ����
������������
����:�	���
�		����
��������
�@������
��
��$�
/0=59
#�
�	�
E�	�
/004�
V��	
��
��$�
2444 �
��
����
��
��������
�		����
��������
�E�	
�	�
��	������
/0=19
#�����
��
��$�
2445 $
F	�
��	
����
��	�
�
���
���!�
�������
����
 ����:�	�
��
�����
 �V��	
��
��$�
244/9
D��	�

�	�
D��	��
2445 $
%��
 ��G������
 ��
 ���
 �����	�
 �����
 ��
 ��

�	���:�
���
���	���	�
���	���	�	
����	�
�
��������
������	�
��	�����	�
��
��
����
��
�������	���
��	����
���
������
��
���
������
�	
���
�������
�	����
�������
�������
��
 ���
 ����
��	���	��
������$
C	
�		����
��������
������
���
��������
��
�������	�
�
�������
������	
��
���
�������
������$
%��
�����
������
����
���
 �	��������
�����
�
 ��
��
����
 �����������
���
�������
��
���
�		��
������
����$
(���
�����
�	�
�����
������
��������
����
����
��	�������
��
�	�������$
%��
�����
��	�����
��
���
	��������
�	����������	
�������	�
���
����
���������
�����	
��
�����	��
�������
����
���	����
��
���
�		��
����
��
���
������
�	�
�������
��
����
������
�����	
���
�		����
�����$

��
+���
���� �����

)�����
/
�����
���
��������
�����
��
����
����
 �	���	��
����	�
�����
 ���
�����
���	��
 ��!��
�����$
%��
����������	��
�����	
��	�����
��
�
��������
�		����
������
 ������
����
�����
��
 ���
-D>$
%��
������
��
���
������
��
 �
���
�		����
���
��
;
�	�
���
�		��
������
��
�

	
$
'	��������
���
������
��
��
�
�	�����

��	���	�
 ������������
�
	

�
 �������
 ��
 ����
 �������

���������$
%��
���
�	�
������
�����
��
���
�������
��
����
��
���
�����
����
���
���������$
%��
�������
����	�
��
������	�
�
�������
����
������������
�

�
�
��
���
�		��

������
����$
%���
 �����������
 ��
 �	������
 ��
 ���
�����������
��
���
�����
�����	�
���	�
��

�
�3
4°D �
�	

�����
��
�����
���
�
�������	
��
���
����	�
����
������
�	
���
�		����
�����	$

)�����
/$
-�������
�����



���

�������������� �����'���������������	
�����(�����)�	!�����

%�
�	���:�
���
�����	�
��������
���
�������	�
���������	�
����
����8
�/ 
���
-D>
��
�
�����	��	
�����
����
��	���	�
�����������
�
����
���
���
��"���
��	����
 �	
 ���
�����	��
 �����
 �2 
 ����	��
 �������
�5 
��������	���	��
�����
��	��
���
�����	��
�����	
����
���
��
��	�������
�
�������������
���
�����
������
����
�>������	
��
��$�
/0=; $

%��
 ��	��������	
 �"�����	�
 ��
����
 �	�
����	���
 ���
 ���
 ��"���
 �����
 �����	�	�
 ���
�������
���
�
�������
��8

�/ 

�2 

%��
�	����
��	��������	
�"�����	
��
������
���
 ����
 ��"���
 �	�
 �����
 �������
 �	�
 ��
 ��	
 ��
������	
��8

�����
���
���������������
����������
��
���
-D>
���
���
��"���
�  
�	�
�����
�� 
�������
����	
��
ρ�
µ,� �
 �	�
 ��

�
���
 ���
 ��	�����
 ��������
 ����������

�������
��	���������
�	�
��������
����
��
��	���	�
���������
 ������������$
ρ ,���


 ��
 �
 ������	��
 ��"���
��	�����
����
���
������
���������
�
���
���������
�
���
�������
������
�����������	�
�
���
�����������
�	�
�
��
���
����
��������$
∆'

���

��
���
����	�
����
��

�����	
��
���
-D>
�	�
ε� ��
 ���
������
�������	�
�����
��
����	��
��8

�; 

�����
∀ 
�	�
∀
���
 ���
 ��"���
�	�
���
 �����
����
�����
������������$

C������	�
 ��
 ���������	
 �/ 
 ���
��"���
��	����
��
��������
�	��
�	
���
����
����
��
7"$
 �2 �
 �	�
 ��
 ���
 ���������
 ��
 7"$
 �6 �
�������	���
��
A������
�	�
>����	����
�/011 �
�����
 ��!��
 �	��
 �����	�
 ���
 �����
 ��	����

�	������	
���	���	�	8









�6 

�����
 3
000$12
!���������
3
0$01
×
/4��
���
�
%����3
;$20�D
�	�
�
3
/$=06$

'	��������
���
�����
��	��	��
�	��
���
������
��
�����
��
�����������
%���
�	
���
��"���
������
���
�����
ε
3
/$
C�
����
�"���
��
:����
���
�		��
����
��
������
�	�
!���
��
%
�
C�
���
�����	�
�����
���
�����������
�������
���
���
�����	�
���	�
������
%���4°D �
ε
��
���
��
:���$
����
����
���
����
����
�	
���
�����
��	�
����
��
7"$
�5 
��
�������	�
����
:���
�	��
�	
���
�����	�
�����
���
�����
���	��
��������"���
��
��!�	�
�����$

%��
��	��������	
�"�����	
��	
��
������	
�	
 ����	���	����
 ����
 ��
 ���
 �������	�
����	���	����
���������8



�< 

W

z
Z ;

W

r
R ;

2

,ref Wρ

tμ
Fo

ℓ

ℓ

�1 

'	
���
�����
�"�����	�
�`
��
���
��������
���������
�����
 ��
 ����	��

����
 �����
����������
 ���
��	��������	
�"�����	�
������

����	
� � = 


























�= 



�0 





�/4 

'�
 ��	
 ��
 	������
 ����
 ���
 �������
 ��
�����	��
 ��
 ���
 ����������
 ����������8
 -��	���
	������
 -��
 ��	������
 ������
 ρ��
 �������
��	�����������
 ������
 ���
 �����
 ��
 ��������
 ����
 ��

����������	
����
�	�
������	�������������	����	�	�	���	�	�	�
�����	����	�	��	 $%! ��

�5 



���

�������������� �����'���������������	
�����(�����)�	!�����

���������
 ��
 ���
�����
����	���
 �	�
 �	����
�"�����	�
����
 ����
 ���	
 /4���
 ��
 �����
 ���
 �����
��	��������
��������	�$

	����
�

(����
�	
�������
����	�
����
�������
�	���
����
���
���������
��
��	��	����
������
��
������
�	�
����������
���
�����	�
����
����
���
����	��$

%��
 ������	
��
 ���
 �������
 ������
������
�	����������
���
 �������	���
 ��
 �
 ������
����
E
3
4$41
��
�
3
4$4/1<
�
�	�
���
3
4$44;=
��
��������	��	�
 ��
 ��
 3
 ;$1
 �	�
C�
 3
 ;$
 %��
������	�
�������
���
�	���:���
������	�
 ����
�	
�"���������
 ��������	�
�����
 ���
�����
���
 ��
 �
�	�����
�����������
%��
3
;4°D$
)��
�
I
4�
���
�		��
����
���
������
�	�
!���
��
%
�3
�/4°D$
)��
����
��������	�
 ���
 �����	�	�
 ����������
 ����8
A�
3
6$1
×
/4�9
 �
.����3
4$4<2
�
ρ �
3
/�
�!�
3
4$;09
!��3
/$4
�	�
-�
3
=$;$
D���������	�
����
���������
�	���
���
���
��"���
�����
��	��	��
�	��
���
������
���
����������$

%��
 ���������
 ��
 ���
 ����
 �����	
 ��
�����	��
������
��	���	�	�
���
������	�
�������
��
���
������
���
�����	���
�������
��������	��
�	
)��$
 2�
 ��
 �������	�
 ����
 �	���	��$
%��
 �������
�������������	
�������	�
�����	
���
-D>
��	
��
���	
�	
)��$
 5�
 �������
 ����������
 ���
 ���
 ����
 ����
�	���	��
��
�	
)��$
2$

(�
�	���:�	�
)���$
2
�	�
5�
��
��	
��
���	
����
��
)�
3
4$6=
��
3
/=4
� �
�����
��
�
�����
�����
��
���
��
���
�����
�����	
��
���
�		��
����	����
�	�
�����
 ��
 �
 ����	�
 ���������
 �����	
 ����!����
������������	
 ����
 �	
 ���
 ����
 ��"���
 �����	$
 )��
)�
3
2$4
��
3
<24
� �
���
�������
�����������
��
���
��"���
�����	
��
���
������
��
���
������
��
�������
���	
 ���
 �	������	
��	����
 �����������
 ���
�����
�∼
;°D �
����
�
����	�
 ���
�����	��
��
�
����	�
���	���
����!����
������	�
����
�	
����
�����	�
�����
��
 ���������
 ����
 ���
 �����
 ����
 ��
 �
��
����
��	����
��	����$
%��
�����	��
��
���
����	����
�����
��������
 ����
 ���
 ������
 ��
 ���
 �����
 ������
����������
 �������
 ���
 �������
 �
���	��
��������	��
��
 ���
 �		��
����
��
 ���
������$
 '�
 ��
��������
����
���
)�
3
/4$;
��
3
5224
� �
���
���	���
����!����
������	�
����
��������
������
���
�����
�����	���
��"���
�����	
�	�
�������
���
����	�	�
����$
%���
����
������
��
�	��������
��
���
������
��
���
������
�����������
�����
�����	
���
�������
�����
 �������
 ���
 �	��	����
 ��
 ���
 ���������
����!����
������	�
����$
)��
)�
3
/<$0
��
3
6224
� �

����������	
����
�	�
������	�������������	����	�	�	���	�	�	�
�����	����	�	��	 $%! ��

��	���	�
 ���������
 ���9��������
 ���
 ���������
����������
 ��
 �	�
 C�
 �	�
 ���
 ��������
����������8
A������
	������
A��
�
��	�	�
�
�	�
.����	
	������
.���

��

��

�

��
��

+
= 9




�
�

�� = �/2 

�/5 




















�/; 

���

���
� �

�	
	��
��


−
= �/6 

�	�
���
�	�����
��	�����	
 1in =θ $

����	���� ��
+��

%��
��	���
������
������
�-���	!���
/0=4 
���
��������
��
�����
���
�������
���
��
�"�����	�
�/ 
 �������
 �5 $
 %��
������  ��
 ������
���
��������
 ��
 �����
�����
 ���
 ���������
 �	�
��	�������
���
��
�������
���
��	����
������
�����$
%��
����
������	�
���������
���
�������
��
���	�
���
 �����
 ��������
 ������$
%��
 ���
 ��
 ���������
�"�����	�
���
������
��
���
%&>C
��	�
��
 ��	�
�-���	!���
/0=4 
��������
����
���
����!
���������	
����������
�.������
�	�
C:�:�
/015 $
%��
���������
��������
 ������	�
���
 ������
����
 ���
.'>-E7
���������
�-���	!���
/0=4 $

C
 ��
��
 �	�
 �������
����
���
 ���������
����
���
�����
��������
�����	$
C
����
����
���
���������
 �	�
 ���
 �������	
 ���
 ��	�������
�	����	��	�
��
���
����
�����	
/?
����
/<4
×
/<4
	����
���	��
�	
���
������
�	�
�
���
��������	�$
%��
����
 ����
 �������
���
 /
 �$
 %��
 �������	
���
��	�������
��	������
��
����
����
�����
���	
���

�// 



���

��
 ��	
 ��
 ��������
 ����
 ���
 ���
 ���
 �������
 ���
�
���	��
 �������
 ��
 ���
 �		����
 �����
 �	�
 ���
)�
3
25$6
 ��
3
1214
 � �
 	�����
 ���
 ���
�����
���
����������$
%��
����
�	������
	��������
���
���
�����
�������������	
��
���
�����
��	��	��
�	��
���
������
��������	��
��
�
��
����
)������
	�����
�"���
��
)����
3
20$1$

%��
���
�����
�����	�
�	����
���
������
����
��������
��	��������	�
��
���
���
��������	
����	�
���
������	�
�������$
%��
����!����
����
������
���
���
 �����
 ������
 	���
 ���
 ������
 ����
 �������
 ��
�������
���
������
�����
��
���
�����
�����	$
F	
���
�����
��	��
���
���	���
����!����
������	�
�����
�������
���
������
�����
��
���
������
��
���
�������
������	�
���
���
�����	�
��������
�	
����
�����	$
C�
�
�������
���
���
�������
���
����
����
��
a
��
���
������
�������
 �����	�
��
�
������
 �	���	����	
�	
���
��������"���
�	�������
��	����$

)�����
 ;
 �����	��
 ���
 ���	���	�
 ��������
��	���	�	�
���
�������
��
���
�������
�	����
������
�����	
���
�		����
�����	$
&���	���	����
��	�����
�	����
7� ��
�	�
����	�
����
7!��
����
����	��
�����
�	
���
��
����
������
�	����
7���
��8







�/1 




latcms

minmax

hΔ)T(Tcp

)T(TcpmE
ℓ

�/= 

�����
 
�������	��
���
������
��
��������
����
�����������
�"���
��
4°D9
�	�
�
��
���
�����
����
��
�����
�����	
���
������$

(�
�	���:�	�
)��$
;�
��
��	
��
��������
����
�	
���
����		�	�
��
���
������	�
�������
����
��!�	� �
���
����
���	����
�����
���
����
�	�
�
�����
����	�
��
�	����
��
�������
�
�������
����
���
������$
C�
���
�����
�����������
���
��	�����
����
�������
����������
��	��
�����
��
����
��"���
�����$
F	
���
�����
��	��
�����
��
�
������	����
�	�
��	��	����
�	������
�	
���

����	�
��
����	�
����
�����
��
�������$
'�
��	
����
��
��������
�	
���
������
�����	���
�
��������	
�	
���
�����������
��
����
������
���
)�
3
2/�
���
��
���
�����	
��
���
����	����
����$

%��
�������
����
���

��	
��
�
�������
��8

�������� ∫=
�

� ���

��
�

�

�

	
� 9




����

� �
�

��
=

⎟⎟⎠

⎞
⎜⎜⎝

⎛
∂
∂−= �/0 

�����
"
��
���
�����
����
���

��
���
����
����
��
���
������
�	�
"���
��
���
����
���

��
���
����
����
���
���
�	�����
�	���	�
��
����$

%��
���
����
�������	
��	
��
����������
��8

�

�
� ���
��� = 
�24 

)�����
6
�����	��
���
��������	
����
����
��
���
����	���	����
�������
����
���

��������	
��
���
����
�����
��
����
��
���
����	�
��
�����
�������
�$�$�
���
���
����
�������	$
'�
��	
��
���	
�
�����
��������	
��
���
����
���

��
���
����		�	�
��
���
��������
��
��
)�
3
2$
C����
�����
�����
��
�
����	�
���	��
�	
���
������
�	�
�
������
��������	
��	
��
��������$
����
�����
��
�
�������
���
�	������
�	
���
����	�
��
���
������
��
����
�������
��
���
��������	
��
���
����	�
����
����
����
�)��$
; $
)�������
��
��	
��
	������
����
���
)�
3
2�
���
��	�����
����
������
��
�����$

C	���:�	�
)��$
6�
��
��	
����
��
���	
����
���
���	��
�	
���
�����
��
���
����
���

��
�������
����
���
�	������
��
���
���
����
�������	�
���
��
���
�	��	����	�
��
���
�������
�������	��
�������
��
���
��	��	����
��������	
��
�����$

�����������

%��
�������������	
���	���	�	
��
�����
�	����
�
��������
�		����
�������
����	�
���
������	�
�������
����
��!�	� 
 ��
 ���
 �������
 �������
 ������
���
���������$
%��
 �	������
 ��
 ���
 ����
������	
 �	�
�����������
�����������	�
��
����
��
���
���
����
�������	
�����������	
����
����
������
���
�	������	��	�
��
����
������

���	���	�	$
%��
���������	
��
���
�������
��
���
��	�����
�	�
����	�
�	������
������
�	
���
-D>�
��	��	��
�	��
���
�		����
������
��
����
��
���
�������
����
���

��
���
����
����
��
���
������
��	
��
������
��
�������
 ���
��������	��
��
 �����
 �����
��
 �������
�	����
�������
�������$

����������	
����
�	�
������	�������������	����	�	�	���	�	�	�
�����	����	�	��	 $%! ��

�������������� �����'���������������	
�����(�����)�	!�����

�/< 



���

)�����
2$
.�������	��

)�����
5$
'��������

)�����
;$
D�����	�
��
���
�		����
������
)�����
6$
%������
�
���	��
��
���
����
����
��
�

��	����	
��
���
���
��������	

O	���
 ��������
 ����������
 ��	�����	�
 ���
�������
������
���������	�����
�������	�
�������	�
���
����	�
��
��	�����
�	�
����	�
�	�������
�����
����
�������
����	�
���
������
��
����
	��������
��
 ����������
 ������
 ���
 ������$
 )�������
 ���
���������	
 ������	
 ���
 �������
 �
���	��
 ����
��������
��
���
�		��
����
��
���
������
�����
���� 
�	�
���
����	�
��
������
�����
���
����
�	���:��$

%���
�	��������	
��
��	�����	��
��
���
���
���
����
������
 ��
 ������
 ����	�
 ���
 �
���	��
����
 ��
 �
�������
����
��
���
�������
�	����
�������
�������
���
��	������	�
	�
��������
��	����
����
�����
���
������
 ������
 ����	�
 	�������
 �����$
 (�����
�	���:�	�
����
��������
��	������
	��
	��������
�������
������
��
�������
���
��
���	��	�
�������
���������
������$

����������	
����
�	�
������	�������������	����	�	�	���	�	�	�
�����	����	�	��	 $%! ��

�������������� �����'���������������	
�����(�����)�	!�����



���

	�)�	�����

D��	��
D$�#$
 �	�
D��	��
>$�#$�
 2445�
.����
'��	���������	
���
���������
'	�������
�����	
���
D���	������
D������
�	
D���
.������
.�����
��
'	�����
#���
%��	����
>������
'	���	����	��
N���	��
��
������������	�
@��$
2<�
��$
6�
��$
6;5�664$

A�������
($
�	�
>����	�����
N$
D$�
/011�
C
���
&�	����
�������	
���
-���
�	�
.���	�
������
&����.��
���������
@��$
2;�
��$
=5/�=;=$

#������
%$�
������
%$�
 �	�
 '���!����
>$�
2445�
'��
)�������	
��
C"�����
.������	
�	�
���
�������
 -��	���	�
C���	�
@�������
 D�����
D���	����
 '	���	����	��
 N���	��
 ��
������������	�
@��$
2<�
��$
2�
��$
/=0�/0<$

#��
D$
 N$�
 �	�
E�	�
V$
#$�
/004�
��������
D�	������	
��
D���
�����
 �	
�
@�������
C		����
����
D�	���	�
#����)��

�	
���
'		��
�����
N���	��
��
#���
%��	�����
@��$
//2�
��$
//1�/25$

'	����
#$�
 �	�
)�!����
%$�
/0=;�
�������
D�	������	
�	
�	
'	���	��
."����
D�����
�	
�����	�
��
&�	����
 '	������	
 ��
������
 N���	��
 ��
 )����
>����	����
@��$
/;2�
��$
5<5�5=/$

'������
�$
C$
�$�
�	�
��
N�����
C$
($�
244/�
-���������
.����
��
.������������	
��
-D>
C���	�
�
D���	���
 ���
 '�����	!
C���������	��
 '	���	����	��
N���	��
��
������������	�
@��$
2;�
��$
=�
��$
=40�=22$

���!���
C$�
������	�
C$�
�	�
#������
-$�
/00<�
>�����������
>������	�
 ��
 ���
%������
-�������	��
��
�
-�����D��	��
>�������
�-D> 
.����8
 D����	�
 D�����
 C�������%�������
7	��	����	��
@��$
/<�
��$
1�
��$
</5�<25$

E�	��
A$
C$�
/0=5�
.����
#���
.������
E���	�
#���
>��������
D�D
-�����
(���
����	�
@��$
/$

E�	�
&$�
�	�
��	������
�$
�$�
/0=1�
�������
D�	������	
#���
%��	����
 �	
 �
@�������
C		����
D�	���	�	�
�����
 	���
 ���
&�	����
>�
�����
N���	��
��
#���
%��	�����
@��$
/40�
��$
=00�046$

>������	�
A$
($�
D�������
.$
�$�
(��������
�$
)$�
 �	�
A���!���	�
>$
7$�
/0=;�
C���������
'	�����������
 �	
(����	��������	
 )���
 �	
 �
%���
@�������
C		�����
-������
��
)������
@��$
21�
��$
/560�/5</$

-���	!���
 .$
@$�
 /0=4�
���������
 #���
%��	����
�	�
)����
)����
#���������
-�������	��
���
V��!$

.�������
 C$�
 �	�
 C:�:�
 �$�
 /015�
 C
A�	�����:����	
��
���
C�������
D��������	
>������
���
 ���
 '���������
.������	
��
>����

7"$�
 .'C>
N���	��
��
���������
C	�������
@��$
/4�
��$
64<�62/$

.������
D$
 .$�
 �	�
(�����
 .$
 E$�
 /00<�
7�����
��
��������YU�
��
D����
C���:�	���
��
>��������
��
>���	Y�
��
)���
	�
'	������
��
&����
D��[	�������
'	8
@'
7	��	���
�����	��
��
D�b	����
%X�������
@��$
2�
��$
0=6�0=0$
��
����������� 

.������
D$
.$�
����!����
C
F$�
�	�
(�����
.$
 E$�
 244/�
�����
 D�����	�
 �	�
&��������	�
-��������
�	
�
@�������
C		����
D�	���	�	�
C����
D�	�����	���
 '����	�-���
.������
%�	!��
 '	8
 2��

'	���	����	��
D�	����	��
�	
D���������	��
#���
�	�
>���
%��	�����
�N�
�N�
(��:��$

.���	���
�&$�
�������
�>$�
�	�
A�����
�>$�
/006�
&��������	�
�	�
'	����������	
��
%������
7	����
 .������
 .������
 ���
 ���
 >�����
%����������
��	���
'	8
'	������
7	����
D�	����
7	�
D�	�$�
@��$
2�
��$
/05�/0=$

%�	��
�$�
 �	�
�������
 N$�
 /00;�
&�	����
'	������	
7�����
�	
%��	���	�
�������
D�	������	
�	
�
�����	�����
7	��������
'	���	����	��
N���	��
��
#���
�	�
>���
%��	�����
@��$
51�
��$
021�05=$

@������
 N$
@$
 D$�
 �	�
 (�G�	�
C$�
 /006�
)�	����	����
 ��
 '��
 >�!�	�
 ��
 D�	������	
D����	�
 )�������
 ��
 D�	����
 >����	��
'	���	����	��
N���	��
��
#���
�	�
>���
%��	�����
@��$
5=�
��$
/6�
��$
2=55�2=;/$

@�������
-$�
����������
E$�
�	�
.��!���
($
D$�
 /0=5�
�������
D�	������	
#���
%��	����
 ��
�����
�����	
�
#���:�	���
D���	������
C		����
����
&�	����
'	������	
7�������
N���	��
��
#���
%��	�����
@��$
/46�
��$
//1�/25$

�����
N$�
�	�
(���	�
N$
7$�
/000�
>�����	�
-������
 D�����	�
 �	�
 &��������	�
 ��
C����
D�	�����	��
 '��
 .������
 %�	!��
 '	���	����	��
#@CDW��
���$
6�
��
5�
��$
240�22=$

V��	�
N$
'$�
���	�
F$
�$�
>��	�
D$
A$�
.�	�
V$
.$�
���
N$
&$�
�	�
�����
%$�
2444�
���������
.����
 �	
D����	�
 -��	���	�	
 ��
�����
����
.����������
 �����	
 �	
 �
 #���:�	���
 D�������
D���	����
 ���������
 #���
 %��	����
 -���
C8
C���������	��
@��$
5=�
��$
;�
��$
561�51<$

V��	�
N$
'$�
>��	�
D$
A$�
����
7$�
.�	�
V$
.$�
����
N$
&$�
�����
%$�
244/�
7
������	���
.����
�	
)���:�	�
��
�����
����
.����������
�����	
�	
�
 #���:�	���
 D���	����
 C������
 %������
7	��	����	��
@��$
2/�
��$
<�
��$<61�<<=$

����������	
����
�	�
������	�������������	����	�	�	���	�	�	�
�����	����	�	��	 $%! ��

�������������� �����'���������������	
�����(�����)�	!�����




